Solutions Midtern Exance PH45 418 2025 i) 1) (DT (DN)S,V variables are S, V, N -> potential  $IS = E(S, V, N) - T = \left(\frac{J - E}{J - S}\right)_{V, N}$  $= \frac{\partial^2 E}{\partial N} = \frac{\partial^2 E}{\partial S \partial N} = \frac{\partial^2 E}{\partial S \partial N} = \frac{\partial E}{\partial S} = \frac{\partial E}{\partial S}$ ii)  $(\frac{2\mu}{2p})_{T,N}$  variables are  $T, p, N \Rightarrow potential$  $(\frac{2\mu}{2p})_{T,N}$  is  $G(T, p, N), \mu = (\frac{2G}{2N})_{T,p}$  $= \left(\frac{\partial \mathcal{M}}{\partial p}\right)_{T,N} = \left(\frac{\partial^2 G}{\partial N \partial p}\right)_{T} = \left(\frac{\partial G}{\partial N}\right)_{T,N} = \left(\frac{\partial V}{\partial N}\right)_{T,P} = \left(\frac{\partial V}{\partial N}\right)_{T$  $= \frac{\partial N}{\partial T} = -\frac{\partial^2 \overline{\phi}}{\partial \mu \partial T} = -\frac{\partial^2 \overline{\phi}}{\partial \mu \partial T} = -\frac{\partial \overline{\phi}}{\partial \mu} = \frac{\partial \overline{\phi}}{\partial T} = \frac{\partial \overline{\phi}}{\partial \mu} = \frac{\partial \overline{\phi$ 

voriables are S, P, M. We did mit io) (OT) (OP) SM define such a potential in class, but that does not mean we can't define it, F(S,P,M) = E(S,V,N) + pV - MNlegendre transform of E from V to -P and from N to M  $\begin{pmatrix} \partial F \\ \partial S \end{pmatrix} = T , \begin{pmatrix} \partial F \\ \partial P \end{pmatrix} = V , \begin{pmatrix} \partial F \\ \partial P \end{pmatrix} = -N$  $\Rightarrow \left(\frac{\partial T}{\partial p}\right)_{s, \mu} = \left(\frac{\partial^2 F}{\partial s \partial p}\right) = \frac{\partial}{\partial s} \left(\frac{\partial F}{\partial p}\right) = \left| \left(\frac{\partial V}{\partial s}\right)_{p, \mu} \right|$ variables ave T, V, N => potential  $v) \left( \frac{\partial P}{\partial T} \right)_{V,N}$  $2S A(T, V, N), -\left(\frac{\partial A}{\partial V}\right)_{T, N} = P$  $= \left( \begin{array}{c} \partial P \\ \partial T \end{array} \right)_{V, V} = \left( \begin{array}{c} \partial^2 A \\ \partial V \partial T \end{array} \right) = \left( \begin{array}{c} \partial A \\ \partial V \end{array} \right)_{T, V} = \left( \begin{array}{c} \partial A \\ \partial V \end{array} \right)_{T, V} \right)$ 

$$z) a) \boxed{Q_{N} = \frac{1}{N!} Q_{1}^{N}} Q_{1} = \frac{1}{h^{2}} \int_{V}^{d^{2}r} \int_{-\infty}^{\infty} e^{-\beta \left[\frac{r}{2m} - \mu h s_{1}\right]} = \frac{V}{h^{2}} \left(2\pi w h_{B}T\right)^{3/2} \sum_{s_{1}=-h_{0}} e^{\beta \mu h s_{1}} \frac{Z}{s_{1}} = \frac{V}{h^{2}} \left(2\pi w h_{B}T\right)^{3/2} \left[1 + e^{\beta \mu h} + e^{\beta \mu h}\right] (Q_{1} = \frac{V}{h^{2}} \left(2\pi w h_{B}T\right)^{3/2} \left[1 + e^{\beta \mu h} + e^{\beta \mu h}\right] = \frac{V}{h^{2}} \left(2\pi w h_{B}T\right)^{3/2} \left[1 + e^{\beta \mu h} + e^{\beta \mu h}\right] = -k_{B}T M \left[A_{1} - N \ln A + N\right] = -k_{B}T N \left[1 + \ln \left(\frac{Q_{1}}{N}\right)\right] = -k_{B}T N \left[1 + \ln \left(\frac{Q_{1}}{N}\right)\right] pressure  $p = \left(\frac{2A}{2V}\right)_{T,N}$   
 $p = k_{B}TN \left(\frac{2}{2V} \ln Q_{1}\right)_{T,N}$   
The only place V appears  $m Q_{1}$  is  $m$  the profactor  $V$ . So  
 $\frac{2}{2V} \ln Q_{1} = \frac{2}{2V} \ln V = \frac{1}{V}$   
 $\int P = k_{B}TN/V$  the ordinary$$

c) 
$$\langle E \rangle = -\frac{\partial}{\partial \beta} \ln Q_N \rangle_{V,N}$$
  
 $= -\frac{\partial}{\partial \beta} N [1 + \ln(\frac{Q_1}{N})] = -N \frac{\partial}{\partial \beta} \ln Q_1$   
with  $Q_1 = Q_1^0 q$  where  
 $Q_1^0 = \frac{V}{T^2} \left(\frac{2\pi m}{R}\right)^{3/2}$  is what we would have for  
an ideal gas of point particles  
 $g = [1 + e^{\beta M h} + e^{\beta M h}]$  is extended from  $q_1$   
 $\langle E \rangle = -N \frac{\partial}{\partial \beta} (\ln Q_1^0 + \ln q)$   
 $= -N \frac{\partial}{\partial \beta} (\ln Q_1^0 + \ln q)$   
 $= -N \frac{\partial}{\partial \beta} (\ln Q_1^0 + \ln q)$   
 $= \frac{3}{N} \frac{1}{\beta} - \frac{N}{\delta} \frac{\partial}{\partial \beta} q$   
 $= \frac{3}{2} N h_B T - \frac{N}{\delta} (\mu h e^{\beta M h} - \mu h e^{-\beta \mu h})$   
 $\frac{\langle E \rangle = \frac{3}{2} N h_B T - N \mu h}{(1 + e^{\beta \mu h} + e^{-\beta \mu h})}$ 

.

. .

d) We can also write  

$$\langle F \rangle = N \left( \frac{p^2}{2m} \right) - N\mu h \langle S_i \rangle$$
  
company to the previous part we conclude  
 $\langle M \rangle = \mu \sum_{i} \langle S_i \rangle = \mu N \langle S_i \rangle$   
 $\langle M \rangle = \mu N \frac{(e^{\beta\mu h} - e^{-\beta\mu h})}{(1 + e^{\beta\mu h} + e^{-\beta\mu h})}$   
we could also have computed the duriely  
from  
 $\langle S_i \rangle = \sum_{S_i = -i, 0, 1} e^{\beta\mu h S_i} S_i$   
 $\overline{\sum_{S_i = -i, 0, 1}} e^{\beta\mu h S_i}$ 

3) Label particles A by i=1,..., NA Label ponticles is by j=1, ..., NB a) If all particles were distinguishable, the partition function would be  $Q = \prod \prod \int \frac{d^3r}{d^3r} \int \frac{$ Now  $H = \sum \frac{p_i}{2m_A} + \sum \frac{p_i}{2m_B} = H_A + H_B$ So  $e^{-\beta H} = e^{\beta H} e^{-\beta H} and Q factors$ Q = QAQB where  $Q_{A} = \frac{1}{h^{3}N_{A}} \pi \int dr_{i} \int d^{3}P_{i} e^{-\beta \sum_{i} \frac{p_{i}^{2}}{2m_{A}}}$  $= \frac{1}{h^{3}N_{A}} \operatorname{TT} \left( \int J^{3}r_{i} \int J^{3}r_{i} \mathcal{E}^{\beta} \frac{P_{i}}{zm_{A}} \right)$  $= \frac{1}{\pi^{3N_{A}}} \left( \int d^{3r} \int d^{3}p \, e^{\frac{p^{2}}{2}m_{A}} \right)^{N_{A}}$  $= \frac{V^{N_A}}{P_{3N_A}} \left( 2\pi m_A k_B T \right)^{3/2} N_B$ and similarly  $Q_B = \frac{V^{N_B}}{\sqrt{3N_B}} \left( 2\pi m_B k_B T \right)^{\frac{3}{2}N_B}$ But the particles A are indestruguobalele from each other, and the particles Bare indistry wishelle from each other, so when we did the above integrals we overcounted states. To correct

we follow Gibbs and divide QA by NA! and QB by L So we get  $C_{\mathcal{R}}^{2} = \frac{\sqrt{N_{A}}}{h^{3N_{A}}N_{A}!} \left(2\pi m_{A}k_{B}T\right)^{\frac{3}{2}N_{A}} \frac{\sqrt{N_{B}}}{\sqrt{P_{A}^{3N_{B}}N_{A}!}} \left(2\pi m_{B}k_{B}T\right)^{\frac{3}{2}N_{B}} \frac{\sqrt{N_{B}}}{P_{A}^{3N_{B}}N_{A}!} \left(2\pi m_{B}k_{B}T\right)^{\frac{3}{2}N_{B}}$ is just the product of the partition functions for only particles A and only printicles B Helmholtz free energy is then  $A(T,V, N_{A}, N_{B}) = -k_{B}T \ln Q$  $= -k_{B}T \left\{ N_{A} ln \left[ \frac{V}{h^{3}} \left( 2\pi M_{A} k_{B}T \right)^{y_{2}} \right] - N_{A} ln N_{A} + N_{A} \right\}$ +  $N_{B} ln \left[ \frac{V}{h^{3}} \left( 2\pi m_{B} k_{B} T \right)^{3/2} \right] - N_{B} ln N_{B} + N_{B} k_{B}$ where we used by N! ~ Nlun - N  $A(T, V, N_A, N_B) = -k_B T \left\{ N_A + N_B + N_A l_u \right\} \left\{ \frac{V}{h^3 N_A} \left( 2 T M_A k_B T \right)^3 \right\}$ +  $N_{\rm B} \ln \left[ \frac{\sqrt{2\pi} m_{\rm B} k_{\rm B} T}{4^3 N_{\rm B}} \left( 2\pi m_{\rm B} k_{\rm B} T \right)^{\frac{1}{2}} \right]$ 

 $p = -\left(\frac{\partial A}{\partial V}\right)_{T, N_{A}, N_{B}} = k_{B} T \left\{ \frac{N_{A}}{V} + \frac{N_{B}}{V} \right\}$ b)  $p = N_A k_B T + N_B k_B T$ p is the sum of the "partial pressures" from gas A and from gas B. If we write N= NA + NB then  $p = \frac{N k_B T}{N}$  and the ideal gas law holds!  $\mathcal{M}_{A} = \left(\frac{\partial A}{\partial N_{A}}\right)_{T, N, N_{B}} = -k_{B}T \left\{\frac{1}{2} + \ln\left[\frac{\sqrt{1}}{h^{3}N_{A}}\left(2\pi M_{A} k_{B}T\right)^{5/2}\right]\right)$ c) comer from NA de (lu NA)  $MA = -k_{\rm B}T \ln \left[ \frac{V}{h^3 N_{\rm A}} \left( 2\pi M_{\rm A} k_{\rm B}T \right)^{3/2} \right]$ Sumborh  $\mathcal{M}_{B} = -k_{B}T \ln \left[\frac{V}{h^{3}N_{B}}\left(2\pi M_{B}k_{B}T\right)^{3/2}\right]$ Chamical potentials MA and MB are the same as if these was only gas A and only gas B. when the wall is thermally conducting best munovable and impormeable, then each side is separately h equilibrius. We can therefore use the ideal gas low

For only NA portales A an m particles B on side 1  $w^{e} \text{ set} \qquad (p, = N_{A}^{(p)} k_{B} T) \\ \overline{V_{1}}$ Simlarly for only NB" publes Bad no particles A on side 2  $\frac{Weget}{P_2 = N_B^{(0)} k_B T}{V_2}$ In general, P, 7P2 d) Now the wall be comes permeable and particles flow through the wall ad come nots a meet equilibries with NAI ad NBI particles And Bon side I and NAZ and NBZ particles And B on side 2. We still must have NAI + NAZ = NA(0)  $\mathcal{N}_{\mathcal{B}1} + \mathcal{N}_{\mathcal{B}2} = \mathcal{N}_{\mathcal{B}}^{(0)}$ Remember, for an ideal grs,  $E = \frac{3}{2} N k_B T$ So witeally, before the wall because, permeable, the every was  $E^{(0)} = E_{1}^{(0)} + E_{2}^{(0)} = \underbrace{3}_{2} N_{A}^{(0)} k_{B} T + \underbrace{3}_{2} N_{B}^{(0)} k_{B} T$  $= \underbrace{\mathbb{Z}_{kB}} \left( N_{A}^{(o)} + N_{B}^{(o)} \right)$ The after the wall be came permeable the evergy becomes  $E = E_1 + E_2 = \left(\frac{3}{2} N_{AI} k_3 T' + \frac{3}{2} N_{BI} k_B T'\right)$  $+ \left( \frac{3}{2} N_{A2} k_{BT} + \frac{3}{2} N_{B2} k_{BT} \right)$ 

where T' is the new temperature  $E = \frac{3}{2} k_{BT} \left( N_{AI} + N_{BI} + N_{A2} + N_{B2} \right)$  $= \frac{3}{2} k_{B} T' \left( N_{A}^{(0)} + N_{B}^{(0)} \right) \qquad \text{since } N_{A1} + N_{A2} = N_{A}^{(0)} \\ ad \qquad N_{B1} + N_{B2} = N_{B}^{(0)}$ Now since the exterior walls of the box are thermally insulating we must have  $E = E^{(o)}$ =) T=T' and the temperature does NOT change The new equilibrium will be determined by the Condition that the chemical potentials of the two species of gas are the same on side 1 as on side z e)  $\mathcal{M}_{A}(T, Y_{1}, N_{AI}, N_{BI}) = \mathcal{M}_{A}(T, V_{\geq}, N_{AZ}, N_{BZ})$  $\mu_{B}(T, V_{2}, N_{A2}, N_{B2}) = \mu_{B}(T, V_{2}, N_{A2}, N_{B2})$ The above is easy to solve for since MA does not depend on NB and MB does not depend on NA. MA (T, V, , NAI, NBI) = MA (T, Y2, NAZ, NBZ) from part Q):  $= -k_{B}T \ln \left[ \frac{V_{1}}{h^{3}N_{A}} \left( 2\pi m_{A} k_{B}T \right)^{3/2} \right] = -k_{B}T \ln \left[ \frac{V_{2}}{h^{3}N_{A2}} \left( 2\pi m_{A} k_{B}T \right)^{3/2} \right]$  $\Rightarrow \frac{V_1}{N_{A1}} = \frac{V_2}{N_{A2}} \Rightarrow \frac{N_{A1}}{V_1} = \frac{N_{A2}}{V_2} \ge \frac{N_A - N_{A1}}{V_2}$  $\Rightarrow \mathcal{N}_{Al}\left(\frac{\bot}{V_{1}} + \frac{1}{V_{2}}\right) = \frac{\mathcal{N}_{A}^{(0)}}{V_{2}} \Rightarrow \mathcal{N}_{Al}\left(\frac{V_{2}+V_{1}}{V_{1}}\right) = \frac{\mathcal{N}_{A}^{(0)}}{V_{2}}$ 

 $\Rightarrow \mathcal{N}_{A_{1}} = \mathcal{N}_{A}^{(o)} \underbrace{\bigvee_{i}}_{V_{1}+V_{2}} = \mathcal{N}_{A}^{(o)} \underbrace{\bigvee_{i}}_{V_{1}}$  $N_{A2} = N_A^{(0)} - N_{A1} = N_A^{(0)} \left(1 - \frac{V_1}{V}\right) = N_A^{(0)} \frac{V_2}{V}$ So  $N_{AI} = \begin{pmatrix} V_1 \\ V \end{pmatrix} N_A^{(0)} N_A = \begin{pmatrix} V_2 \\ V \end{pmatrix} N_A^{(0)}$ similarly  $N_{BI} = \left(\frac{V_1}{V}\right) N_B \qquad N_{B2} = \left(\frac{V_2}{V}\right) N_B^{(0)}$ So the praction of particles in a given side is just equal to the fraction of the total wolene that side contains. This is exactly what one would expect without any detailed calculation. The particles just spread out evenly over all the possible volene, so that there is a constant density of particles Lensity of A is NA, Lensity of B is NB so member of A in side 1 i just V, MA etc. Now the pressure or side I is by part (c) just f)  $P_{I} = (N_{AI} + N_{BI}) k_{B}T = \left[ \left( \frac{N_{I}}{V} \right) N_{A}^{(0)} + \left( \frac{N_{I}}{V} \right) N_{B}^{(0)} \right] k_{B}T$  $= \left( N_A^{(0)} + N_B^{(i)} \right) k_B T_A$ 

and the pressue on side 2 in  $P_2 = (NA2 + NB2)k_BT$  $\begin{bmatrix} \binom{V_2}{\nabla} & N_A^{(0)} + \binom{V_2}{\nabla} & N_B^{(0)} \end{bmatrix} k_B T$ 2  $\left(N_{A}^{(0)}+N_{B}^{(0)}\right)k_{B}T$ Po 50  $P_1 = P_2$ So the pressure on the two sides of the internal wall have become equal even though the wall remained fixed in position the whole time! When the wall was impermeable, the pressure on side 1 was  $p_1 = N_A^{(0)} k_BT/V_1$ and the pressure on side 2 was  $p 2 = N B^{(0)} k BT/V 2$ and so in that case  $p = 1 \neq p = 2$ . Hence, the pressures changed when the wall became permeable.